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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-6

BfiE) | EBAK ) | EHE (EARA/K) | BERERE (B/R) | KR R

06:45 278 150. 0 2.583 5| THfe06:45 KHIEF (RFMERER)
07:15 278 150.0 2.583 5| FEAeO7:15 KEIEFE CGRAEESE)
07:45 278 150. 0 2.583 E|  FAHA@07:45 KEFEF (RAMERER)
08:15 278 150.0 2.583 M|  FiHAe08:15 KRENFEF (KRFAEEHS)
08:45 278 150. 0 2.583 fi| FnHRe08:45 KEIEF (KRFAERES)
09:30 278 150.0 2.583 M|  FHA@09:30 KREFEFF (ARBIEREE
10:05 278 150.0 2.583 M| FiHAe10:05 KREFEF (RAEHKS)
10:40 278 150. 0 2.583 |  HR@10:40 KEFEF (REAERES)
11:10 278 150.0 2.583 M|  FiEfe11:10 RFEF (KAERKSE)
11:40 278 150.0 2.583 M| FnHB@11:40 KREFEF (REAEREE)
12:10 278 150. 0 2.583 Rg| THA@12:10 KENZEF CGRAEESE)
12:40 278 150.0 2.583 5| THRe12:40 KEFERF (RF1EREEE)
13:10 278 150.0 2.583 FH| FiHB@13:10 KEFEF (GRAAEREEE)
13:40 278 150.0 2.583 FR| FHA@13:40 KREFZF (KRFAEES)
14:10 278 150.0 2.583 FR| FHA@14:10 REIZF (RAEREHS)
14:40 278 150.0 2.583 FH| FnHR@14:40 KREFRF (REERE)
15:10 278 150.0 2.583 M|  fiffe15:10 REiEF (REERES)
15:45 278 150. 0 2.583 M| FiHRe15:45 KREEF (KAFEHE)
16:25 278 150. 0 2.583 M| FiHR@16:25 KRAMiEHF (RALESR)
17:15 278 150.0 2.583 BS| FiHRe17:15 REIEF (REERSE)
21t 5560.0 (20%) 3000. 0 3EHKEC: 2080.0, PH: 6.0

#H[EKECE (1897.0 vs 3593.0) id5
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P3-6_0, Day=72 (2025-06-09)
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P3-6

BfE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:40 278 150.0 2.583 E BRi%e06:40 BE1 (GRAERE)
07:10 278 150.0 2.583 = {Rig@07:10 B3 (RAERSE)
07:40 278 150.0 2.583 5| {Ri1Re07:40 BHzh (GRAERESE)
08:10 278 150.0 2.583 5| {Ri%e08:10 Bz (FAAERSE)
08:40 278 150.0 2.583 | 1Ri%e08:40 B (RFfRREEE)
09:15 278 150. 0 2.583 E BRi&e09:15 Bzl (RAEREE)
09:50 278 150.0 2.583 5| {Ri%@09:50 B3 (FAERSE)
10:20 278 150.0 2.583 =l RRi8010:20 B (RFAEEE)
10:50 278 150.0 2.583 =l RRiB010:50 Bzh (RAEEE)
11:20 278 150. 0 2.583 =l RiB011:20 B3 (RAEESE)
11:50 278 150.0 2.583 =l {Rige11:50 B3 (RAERSE)
12:20 278 150.0 2.583 Sl {Rige12:20 B3 (RAERSE)
12:50 278 150. 0 2.583 E| {Rig012:50 Bzh (RE{ERSE)
13:20 278 150.0 2.583 F BRige13:20 Bz CGRAERE)
13:50 278 150.0 2.583 S| {Rig@13:50 B3 (RAERSE)
14:20 278 150. 0 2.583 E BRige14:20 Bz (GRAERESE)
14:50 278 150.0 2.583 F BRige14:50 Bz CGRAERSE)
15:20 278 150.0 2.583 =l {Rig015:20 B3 (RAERSE)
15:50 278 150. 0 2.583 E BRi&e15:50 Bz (GRAERERE)
16:20 278 150.0 2.583 S| {Ri%016:20 B3 (GRAMERSE)
16:50 278 150.0 2.583 =l RRiB016:50 Bz (RFAEEE)
17:20 278 150. 0 2.583 F BRige17:20 Bz (GRAERESE)
2it] 6116.0 (22)%) 3300. 0 3203 KEC: 2080.0, PH: 5.9

large discrepency for begining water status (439:141.0), set to 439 ml.
[E]/&EC 5260.0 K&, EiUAKECHAIMIAER
BEEIRECE (1927.0 vs 5260.0) i 5
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m=665,n FV0=0

49.

49.
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-o— MW
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T T T
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m=390, FV0=0
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45 -
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T T T
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m=595,m FV0=0

—— MW
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m=725,n FV0=0

7éO 7é5
m=850,n FV0=0
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1T —e— mw

850 855 860




m=885, FV0=0 m=920, FV0=0 m=935, FV0=0 m=995, FV0=0

—— MW —— MW .07 _o— mw —— MW
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o 50. 6 4
50. 2 1 50. 4 -
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50. 0 4 .
50. 2
49.8 50. 2 1 2047
50. 0 4
49.6 1 50. 0 4 50. 2 4
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T T T T T T T T T T T T
885 890 895 920 925 930 955 960 965 995 1000 1005
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P3-6

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

06:35 273 150.0 2.583 = {RRiB006:35 B (FRFAEEE)
07:05 273 150.0 2.583 = {RRiB007:05 Bzh (REAKEE)
07:35 273 150. 0 2.583 F|  {Ri&@07:35 Hah (RF{ESE
08:10 273 150.0 2.583 F[ BRi%e08:10 Bzl (RAERSE)
08:50 273 150.0 2.583 5| {Ri%@08:50 Bz (KRAAMERSE)
09:25 273 150. 0 2.583 E BRi&e09:25 BE1 (RAERERE)
10:00 273 150.0 2.583 F[ BRi%e10:00 Bz (GRAERSE)
10:30 273 150.0 2.583 =l {Ri%@10:30 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 5| {Ri&e13:30 B3 (REAERS)
14:00 273 150. 0 2.583 E BRige14:00 Bz (GRAERESE)
14:30 273 150.0 2.583 5| {Ri%e14:30 B3 (GRAERSE)
15:00 273 150.0 2.583 =l RRiB@15:00 B (RFAEESE)
15:30 273 150.0 2.583 = RRiB015:30 Bz (REAKEE)
16:00 273 150. 0 2.583 El BRi&e16:00 Bz (GGRAEREE)
16:30 273 150.0 2.583 F[ BRige16:30 Bz (GRAERSE)
17:00 273 150.0 2.583 S| {Rige17:00 B3 (RAERSE)
=23t]5733.0 (21%) 3150.0 3203 KEC: 2080.0, PH: 5.8

large discrepency for begining water status (351:144.0), set to 351 ml.

[ /&EC 6912.0 K&, EIUAKECAAIMIAER
#EEIRECE (1877.0 vs 6912.0) 537




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=70 (2025-06-07)

o fF———————fF————F—————f 4000
VI, VBB%®RV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2992
854 2357 3000
100 - 2500 25
2
000 - 2000
50
- 1000
20 Warning: lcol [FVI',| "FVO’'] missing 176
0 + -0
2001 ¥ 30
150 - - 28
I-ul
100 A L 26 =
50 - 24
1.0 22
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit :@D72 01:53: ET=2793 Fg=3450.0 Ro=617.0 t
1 - 4000
400 - :
1
1
I 2000
I -
200 - ,
1
1
b o b
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
B B B B B B B B B B B B B B B B B B B B B B B B 4000
: |
400 1 ByEt @D70 19:08: ET=3161 Fg=2550. 0 Ro=nan :
200 - ol I L 2000
I 1
1
\—Ir\
0 _Ii}?/ﬂﬁ—-' I_l l 1 I — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g | B | B | B | B |KB|[B|B|B|B| B 5 5 5 | KBS 5 5 5 i 5 5 5 i 5 4000
: |
400 1 ByWoFv 1@D72 01:53: ET=2757 Fg=3150.0 Ro=512.0
1
I 2000
I -
200 - ,
1
1
o —o— 06— 00—
1.0- 0 1 2 3 T 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
0.8 4 B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ u
[ ] | _obs
—@— PPFD obs
80 1 — RH t
o RH_obs
60 - [} RHo_obs
40 -

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



26.

26.

25.

25.

25.

25.

24.

27.

26.

26.

26.

26.

27.

27.

26.

26.

26.

23

T T
800 1000

m=610,m FV0=0

T
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50 A

25 -
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M_E

6%5 650
m=730,n FV0=0
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i
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7é5 7&0
m=850,n FV0=0

-o— ME

i
i

855 860

25.
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24.
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23.

26.

26.

26.

26.

25.

25.

27.

21.
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26.

26.

26.

27.

27.

26.

26.

26.

m=455, FV0=0

5_

.04

M_E

460 4é5
m=640,n FV0=0

—&— M_E

i

6&5 660
m=760,n FV0=0

—o— M_E

765 750
m=880,n FV0=0

760

—o— M_E

880 885 890

26.

26.

26.

26.

25.

25.

26.

26.

26.

26.

26.

217.

27.

26.

26.

26.

27.

217.

217.

26.

26.

m=490, FV0=0
—e— ME
6 -
4 .
2 -
0 -
8 .
6 -
490 495 500
m=670,m FV0=0
—e— ME
8 -
6 -
4 -
2 -
0 -
670 675 680
m=790,m FV0=0
27 —o— ME
0 -
8 -
6 -
4 .
760 765 860
m=910,m FV0=0
47 —o— ME
2 -
0 -
8 .
6 -

915 920

26.

26.

26.

26.

26.

27.

26.

26.

26.

26.

27.

27.

26.

26.

26.

27.

27.

21.

26.

26.

m=535, FV0=0
—e— ME
8 .
6 .
4 .
2 .
0 .
555 550 555
m=700,m FV0=0
01 ¢ '\ —o— ME
8 .
6 .
4 .
210
700 705 710
m=820,m FV0=0
27 —o— ME
0 .
8 .
6 .
4 .
séo 855 850
m=945,m FV0=0
47 —o— ME
2 .
0 .
8 .
6 .
945 950 955




m=980, FV0=0

- ME
27.4 -
27.2 -
27.0 -
26.8 -
T T T
980 985 990
m=490,m FV0=0
—o— MW
44.5
44.0
43.5
T T T
490 495 500
m=670,m FV0=0
—o— MW
46. 25 -
46. 00 -
45. 75 -
45. 50 -
45. 25 -
45. 00 -
670 675 680
m=790,m FV0=0
—— MW
48.6
48. 4
48.2
48.0
47.8 -

795 800

27.6 A

27.4 4

27.2 A

27.0 A

26. 8 -

45.

45.

44,

47.25 4

47.00 -

46. 75 -

46. 50 -

46. 25 -

46. 00

49.0 A

48. 8 -

48.6

48. 4

48. 2

48.0 A

m=1030, FV0=0

—0—

M_E

T
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T
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T
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m=535,m FV0=0

—o— MW

535

T
540

T
545

m=700,m FV0=0

—o— MW
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45.
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44.
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47.
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46.

50 A

48 -
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38 A

M_W

T T
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m=610,m FV0=0

T
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m=730,n FV0=0
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50 A

25 A
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m=850,n FV0=0
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-— M
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45.
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47.
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49.
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49,

48.

m=455, FV0=0

43
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38 -

M_W

4é0 4é5
m=640,n FV0=0

6&5 660
m=760,n FV0=0

T
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—— MW

765 7%0
m=880,n FV0=0

760

- MW

880 885 890




m=910, FV0=0

49. 8 -

49.6

49. 4

49. 2 -
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P3-6 BriE) | GEBAK () | ERE(EH/R) | EREE (/R [ XS R

06:05 273 150.0 2.583 5| {Ri%@06:05 Bz (FAAERSE)
06:35 273 150.0 2.583 = {RRiB006:35 B (FRFAEEE)
07:10 273 150.0 2.583 = RRiB007:10 Bzh (RAEEE)
07:50 273 150. 0 2.583 F|  {Ri%@07:50 Bah (RF{ESE

08:25 273 150.0 2.583 F  BRi%e08:25 B (RAERSE)
08:55 273 150.0 2.583 5| {Ri%@08:55 Bz (KRFAMERSE)
09:30 273 150. 0 2.583 E BRi%@09:30 BE1 (RAERRE)
10:00 273 150.0 2.583 5| 1Ri%@10:00 B3 (KREAEES)
10:30 273 150.0 2.583 =l {Ri%@10:30 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 = RRiB013:30 B (RFAKESE)
14:00 273 150. 0 2.583 E BRige14:00 Bz (GRAERESE)
14:30 273 150.0 2.583 5| {Ri%e14:30 B3 (GRAERSE)
15:00 273 150.0 2.583 =l RRiB@15:00 B (RFAEESE)
15:30 273 150.0 2.583 = RRiB015:30 Bz (REAKEE)
16:00 273 150. 0 2.583 El BRi&e16:00 Bz (GRAERE)
16:30 273 150. 0 2.583 5| 1RiR@16:30 Bz (KREAEES)
17:00 273 150.0 2.583 S| {Rige17:00 B3 (RAERSE)
17:30 273 150. 0 2.583 E BRige17:30 Bz (GRAERESE)
2it] 6279.0 (23)%) 3450.0 JEWHKEC: 2080.0, PH: 5.6

[E;&REC 7468.0 K5, EiNF{KECAE & M%ER
#[EKECE (1820.0 vs 7468.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 A

1000

P3-6_0, Day=69 (2025-06-06)

150 A

100 A

50

200 -

100 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 33623719

22
1900 856 2000

FRV maxM

- 1000
99 Warning: lcol ['FVI', '"FVO'] missing 20
-0
Vi

|
T
N
N
(S}

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200

1
Bylnit|@D72 01:53: ET=3087 Fg=3450.0 Ro=407.0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400 -

200

m 1
608-, 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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EHEFRE 55 5 5 5 i H 5 G A B 5 G A B 5 B G B B B G

ByEt @D69 19:08:

1
400 | ByWoFv!@D72 01:53: ET=3210 Fg=3450.0 Ro=506.0 - 4000

200

1.0 A

B |2z | B | | i5 | | B |5 | | B | [ |#E | [ | i | B [ |8 [ZF[ZT|25[(%5)| B
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0.6

0.4+
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500 -

[ ] | _obs
—@— PPFD obs

—_— 4

- 4000

- 2000

ET=3587 Fg=2865.0 Ro=nan 1 - 4000
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- 2000

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



23.

23.

23.

22,

22.

22.

22.

22.

22.

22.

21,

24.

24.

24.

24.

23.

23.

21 -

T T
800 1000

m=545,m FV0=0

600

10

05 ~

00 -

95

90 -

85 ~

80 ~

—o— ME

l

560 5%5
m=665,n FV0=0

—o— ME

650 6%5
m=785,n FV0=0

22.

22.

22,

21.

21.

23.

22,

22.

22.

22.

22.

25.

25.

25.

24,

24.

24,

24.

m=435, FV0=0 m=465, FV0=0
0 1.0
8 - 0.8 -
6 - 0.6 -
4 - 0.4 -
2 - 0.2
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=585, FV0=0 m=620, FV0=0
27 —o— ME —o— ME
22.0
1_
21.8
0_
21.6
91 21. 4 1
8 - 21.2
T T T T T T
585 590 595 620 625 630
m=695,m FV0=0 m=725,m FV0=0
0 —o— ME 23.6 11 _o— M_E
23. 4
8_
23.2
6_
23.0
4_
22.8
2_
22.6
0_
695 700 705 725 730 735
m=815,m FV0=0 m=845,m FV0=0
47 e M_E 26.0 1/ _o— M_E
2 1 25. 8 -
01 25. 6 -
&1 25. 4
6_
25.2
4_
25.0
2_
815 820 825 845 850 855

22.

22,

22.

21.

21.

24.

23.

23.

23.

23.

23.

26.

26.

26.

25.

25.

25.

m=495, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=630, FV0=0

—_

—o—

M_E

630

655 6&0
m=755,n FV0=0

—o—

M_E
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760 7é5
m=875,n FV0=0

—O—

M_E

875

880 885




m=910, FV0=0 m=945, FV0=0 m=985, FV0=0 m=1045, FV0=0

—o— ME —o— e | 2687 —o— ne | 2707 —o— ME
26. 4 26. 6
26. 8
26. 6
26. 2 26. 4
26. 6
26.0 26.2 2.4
’ ’ 26. 4
25.8 1 26.0 26.2 4 26. 2
25.6 25. 8 26. 0 26. 0 A
T T T T T T T T T T T T
910 915 920 945 950 955 985 990 995 1045 1050 1055
m m=435,m FV0=0 m=465,m FV0=0 m=495,m FV0=0
1.0 1.0 1.0
0.8+ 0.8 4 0.8 +
0.6 - 0.6 - 0.6 -
0.4 - 0.4~ 0.4 -
0.2+ 0.2+ 0.2+
Warning: col "MW ] missing Warning: col "M W ] missing Warning: col "M W] missing
T T T 0 0 T T T T 0 0 T T T T 0 0 T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=545,m FV0=0 m=585, FV0=0 m=620, FVO0=0 m=630, FV0=0
43.8 7 —o— MW —— MW —o— ww | %77 —e— wmuw
1 41. 8 A 39. 8 4
43.7 39 6 4
43. 6
41.6 i
39.6 - 39.5
43.5
i 39. 4 A
434 41.4
39. 4
| 39. 3 -
43.3 41 2 4
43. 2 39. 2 A 39. 2 A
545 550 555 585 590 595 620 625 630 630 635 640
m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0
39. 8 - MW 40. 3 A . MW 40.9 + - MW 41.6 . MW
40. 2 40. 8 A
39. 7 41. 4 1
40. 1 A 40. 7 +
39. 6 40. 0 A 40. 6 41. 2 A
39. 9 A 40. 5
39.5 ~ 41.0 A
39. 8 A 40. 4
39. 4 A 39. 7 A 40. 3 A 40. 8
665 670 675 695 700 705 725 730 735 755 760 765



m=785, FV0=0

42.0
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T
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T
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m=815, FV0=0
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T
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m=945,n FV0=0

45. 25 A
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44.75 A

44.50 A

44.25 A
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M_W

T
945

T
950 955

m=845, FV0=0

43.0
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M_W
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T
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43.
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T
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P3-6

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

05:50 273 150.0 2.583 F  BR1%e05:50 Ba1 (RAERSE)
06:30 273 150. 0 2.583 = {RRi8006:30 B (RAKEE)
07:35 273 150. 0 2.583 E BRi&e07:35 Ba1 (GRAERERE)
08:45 273 150.0 2.583 (Z=| {Ri%e08:45 Bzl (FAERSE)
09:25 273 150. 0 2.583 FR| 1B2i%@09:25 B3h (kB{EREE)
10:00 273 150.0 2.583 FA| 1B2i%@10:00 B3h (RABIERSE)
10:35 273 150.0 2.583 FA| 1BRi%@10:35 B3h (KRAERSE)
11:15 273 150.0 2.583 FR| {Ri&e@11:15 Bzl CGRAERSE)
12:00 273 150.0 2.583 FA| 1B2i%@12:00 B3h (RABIERESE)
12:35 273 150.0 2.583 FE| 1BRi&@12:35 Bzh (RAEREE)
13:15 273 150.0 2.583 |Z=| {Ri&e13:15 Bz (REEZBE)
13:55 273 150.0 2.583 |Z=| {Ri&e13:55 Bz (REEZEHE)
14:30 273 150.0 2.583 (£=| 1Ri%e14:30 B3 (RAEDSE)
15:30 273 150.0 2.583 |Z=| {Ri%e15:30 B (REEZEBE)
16:30 273 150. 0 2.583 |Z=| {Ri%e16:30 Bz (REEZEBE)
2it] 4095.0 (15)%) 2250.0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (295:135.0), set to 295 ml.
BE X 17 [o] /RECET B B k.

[E;&EC 6925.0 K5, EiIUFARECAER MitER

HE[ERECE (1773.0 vs 6925.0) i35

REREB I HEREC/PHESR R, RIRERIMAEELRTR
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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